1IS-712830, SHEET 1 OF 2 - INSTALLATION INSTRUCTIONS GLOBAL VCS - 1:12-08/23/2014 - ISS. 2 - CPI/A. PAE

SHEET 1

DETAIL A DETAIL B

3/8" HEX NUT & FLAT WASHER

2X
N
NS 8-32 ACORN NUT
A \.&} B X
/ \ \] 3/0\\
/ N &] % \
f N &l \
2 NN ik
TN N B H SUNTON
" \l sl L \!NI’ k\\“J‘
S N\] » 137 Q \ng»(i‘{ \ %
NN o
NN
A'\ NI SR
‘ Y X | l’l
N \]
§

777

|
l
l
l
|
N —8-32 X 3/8" FLAT SCREW 3/8-16 X 3/4' CARRIAGE BOLT,
&} 4X USE WITH CPI STANDARD RACK CHNLS
N/ g OR
N 3/8-16 X 1" CARRIAGE BOLT
%} USE WITH CPI UNIVERSAL RACK CHNLS
\] 2X
N
N
§} 1. Lay top and bottom channels on clean flat surface,
SN with plastic fingers facing upward. Slide units fogether
'%‘ as illustrated in Detail A
| .
lS} 2. /(A\ssemble top and bottom using (4) screws and (4) nuts. GI CHATSWORTH PRODUCTS. INC.
NN See Detail A)
§} 3. Vertically align to rack web surface. INSTALLgTnglglAI\I[li/TngJCTIONS
N 4. Attach the unit to rack(See Detail B). Rack illustrated is
CPI1'19" X 7' Standard Rack. The unit can be mounted to
O” CPl ROCKS&QUOdrO ROCkS. THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO

CHATSWORTH PRODUCTS, INC. ANY REPRODUCTION DISCLOSURE
OR USE OF THIS DRAWING IS EXPRESSLY FORBIDDEN EXCEPT
AS AGREED TO IN WRITING BY CHATSWORTH PRODUCTS, INC.



1IS-712830, SHEET 2 OF 2 - INSTALLATION INSTRUCTIONS GLOBAL VCS - 1:12-08/23/2014 - ISS. 2 - CPI/A. PAE

DOOR COVER ASSEMBLY

SHEET 2

/90000000000800000000)

1,.\\N\N\N\N\\ VI s\v\ /LI, \\.\N\n\\\«u\m\\\\\m\n\\\\\m\k\\\m\n\\\\\m\\\\\\ Z

~ e,/
’w ssedasesentcrseantnney@acananans

llllll

COVER OPERATION

0

WIII0000000000000000000000000000000000000I8 9500

a

N\N\N\N\N\\\N\\\\\\\\\Fﬁ\\\\\\\\\\\\\\\\\\\\\\

T

[0)
@)
£
-
(%] J—
Q =
O L cC
wn| OO0 >
(8% o O
wl 0c?
>| 2+ 5
o)
Ol o330
C e.we
O 5 <
w| ¢ O
coc .
= €560
(o) @)
I €905
Ol €905
ocs
A ”ewn
— Ge.m.l
— — N n L
o) < $3382
O £022
© <005
<
8
5
o 7 \/
O
£ \ /
. /
<
X L/ .
— L 7 /
4 /
%u /
/
£3
<O \
(O]
70 !
o™
03
— O
55
[%2]
€5

DETAILC

To gain access to the cables, the cover can be hinged open,
either from the left or right, or it can be completely removed.



	SHEET 1
	Drawing View1
	Detail View B (1 : 6)
	Detail View A (1 : 4)

	SHEET 2
	Drawing View4
	Detail View C (1 : 6)
	Drawing View6


